Makebletck

Suitable for use GUIDE FOR BUILDING THE
e Starter kit

J AoT\:aenrceld kit ZWD

e Ultimate kit

* Lab kit

www.makeblock.cc V1.1



NS

2X QDC Motor-25

Beam 0824-144
Timing Pulley 90T

Tyre 68.5x22mm

(,, Caster Wheel

1x Bracket P3

0
2X ' Shaft Connector-4

Ax &  Screw M4X14

Screw M4x8

Countersunk Screw M3x8

Headless Screw M3 x5

1x @ Nut M8



4x &2 Screw M4x8




Bracket P3

Screw M4x8




2X /@ DC Motor-25

2X DC Motor-25 Bracket

4Ax &2 Screw M4x8

4x & Countersunk Screw M3x8




Timing Pulley 90T

AX > Screw M4X14

Headless Screw M3 x5

L 4

2X




Tyre 68.5x22mm




@’ Caster Wheel




